€D Examfl: 201°

DO HOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TCLD TC DU 50

T.B.C. : B=EFA-0-PDW Test Boaoklet Seriex

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowe:d : Twa Hawvea Maximum Marks - 100

INSTRUCTIONS

CIVMMEDIATELY AFTER THE COMMENCEMENT (17 THE EXABMIMNATION, YOLU SIHILT

THECK THAT THIS TEET BOQHKLET AEY MOT HAYE ANY LNPRINTID OR TORN TR
MIEEING PAGES OR ITEMS, ETC. [IF 80, GET IT EEPLACEDR BY A COMFLETE TEST
BOOKLET.

Plaazc nutc that it is the candidat+’s responsibility to encode and fill in the Roll
Nomber and Test Booklet Secies A, B, C or I carefully and without any omission ur
discrepancy at the appropricte places in the OMR Anawer Sheet. Any omission/
discrepaoey will reader the Angwer Sheet liable for rejection.

w0 have B oeoler youds Roll Mumber an the Test
Hraklat i the Box prowded alorpsido DG WOFT
write arything vlse oo the Test Boaklet.

This Tost Booklet comntains 100 items [goesbons]. Bach = s printed boln in Bindi
and English Farh item composes four responses iansweesh Yoo wilosclecl Lhe
regManse which you want tv marck oo the Answer Sheet. Inocase wou lecl that there
mare than ane correct cespense, mark the respones which row vensider be bes Inany
case, casass ONLY ONE responan far rach item.

tou have o marck all your pesponsca ONCY on the sepuate Answer Sheet pravidec.
Soe directinps in the Answer Sheet

Al wems rarty conal marcs.

Relire wii procesd ) mark n the Answer Sheet -he reaponse to vanous itens o e
Toal Booklet, wou have Lo [l inozome particulars in the Answer Sheel a8 per inkRamations
semt to wou with your Admission Certificate.

Afer o have completed filling io el your responses oo ibe Answer Sheet and e

pasaniniation has cancluded, yoa showdd bl nver to 1he Iovagilater realy the Aasiect
Sheet You ore permitied o ladte away with you the Test Bookle

. Sherda dor rough wark are appended io the Trat Boolkdet sn the ehd.
14

Fepalty for wronp answers :
TIHERE WILL BE PEMNALTY FOR WRONG ANSWERS MARERD BY A CANDIDATE [N TIHE

CHAIBECTIVE TYPE CHIFSTION 1PAPEERES.

lil Thetre are fur alternatives for the wangswer ta every question. Boo each qurstian far
which = wrong answer bas been given by the candudale, one-thisd of the marks
assipned to that nqueoakion will oe deducted a5 penaly.

fii} I = candidate gives rmoere than one apswer, it will be treated 35 2 TrODE ANSWEL Cven
i oz ol Lthe given answers happens lo be conect and there witl e same peoadly s
abicred: 1o thal gqueostuon.

il If o gquestion is b blank, i.e., oo answee 3= given By the candidate, there will be
s penalty for that guesticn,

3 NOT OPEN THIS TEST BOOKLET UNTIL ¥YOU ARE TOLD TO DO SO

= 3 M T we g ke g o e R



1. What is the remainder when 4%° i 4. What 1=

divided by &%
E+410
(@ @ 55 - 2420 - 32 + 450
fe) 3 equal to?
fe} 2
fal &
fdi 1
it 542
201 fel 545
37 _ o, !1 fulf w5
13 .+
y__

B. The dglt in the wnits place of the
preduct Slx 82 x B3 84 . ..x 90 i3
where x, W, & are natutal numbets,

then whal is z equal 0P fag
fif 4
fal 1
¢t &
2
id) 4
fel 3
il Cannat T determined due 1o &. The square roof of

inaufiicien: data

.75%
BB 0-75440-7512 + 1)
1-0.75
3. Tor what value of & i3 |2 - 5] a facior )
of z% - 3x? + k- 107 s
jm} 8 i) 1
e 1 T
fer 2 o3
fdl 1 ol 4
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4
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iy 2 fol  d
el 3 fdi A
il AT Fa % amm fuife = SEm
T Tl
; 3
6 075 o rse0 ma2er W
L-0 75
3, K Fmma & B x¥-3xC + v - 1D i e B
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a1
fir) -8
by 2
w4
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fuld 1 fd) 4
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7. What ia the remainder  obtained 10, Whar :a the number of possible oo

when 13421 = 1423« 1435 15 dowided rf 1 QO AF the nuumaer Sa7 Ao
ay 12Y divisible by bouh L oard =2
a1 m) T
it T
th! o
3
idi 4 for %

(ifl Nonc ol the ah0vr
8. Conisider the Mnllowing stacements :

] T epuaation 1990y - 175=11

has na solutiam noaniegers for 11. Thr diflerence bebaeen The Souases
= &nd g al’ two conzeculve odd rlegors s
Y The equation 3x- 12y =7 has always drasible by
no sofution in intepera for
x and 1. fop 3
Tn.i..hm-.lu al the above  stacemants Bt
i%fare corvens?
fel &
fey 1 only
fl 2 anty fdl 16
fe) Buatk 1 and 2
fa! Meither 1 nor @ 12, The expressiun

3.4 1 < R B P
x -rTptedx i [T 1) axpr
a. A stuclen! was azbed to wouliply 1 i ™ i ! F

a number by 25 He instead
multiplied the number by 52 and iz divisible 2y
pot the answer 324 more than the
correct answer. The oumoer to be

multiplied was o 1x L) ondy
fat 12 Bo[x -3 eoly
iy 15
jc;  bath {x - 1) and [x -3}
fel 35
fed! 3 jd) neither{x L nos e -3
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T, 1191 = 34258« 143 @t 12 8 fBFyEm
T 7T THEA LY
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2 e 3x - 12y=TF & x S8Ry
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IM, &t T 324 = o7, e A
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fa) ?
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ja) I & 4 % ¥E

11. 31 FTA foem qorfet = =il <61 s T
foraadt fmny 87

fay 3
fhl 7
fel M

fel) LG
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13. The difference Detween  curozround

interest and simple citerest al Lhe
satne rafe ol inzerest R percent per
anmm o an anounl of 02000
for 2 wears s f 95, What is 1the
valuc o B7

(i A
(LI AN
[ 12

(4 Canswl br determined due to
insufficient data

Whar iz the meximam value of il
the number

N=0h w45 35w 00w 134w Fh

5 divisible by 3™2

ful 4
bl 3
el 6
w7

A milkenan claims o sell milk at its
cosl price a6ly, ue ae 5 mekang a
prafit of 20% since he has mixed
some amoant of waler i e mili
Whal s the percentape of milk in

Thes iy e ¥

|"|‘:l|| 14 B
250
1e) )
i) 4
o TI%
200
el — My
fedd 3
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o There ax 0% increase in A anount

i & vesrs 9t gimple interest. Whet
will be the comzpound iotersst oo
? 12,000 alter & years at the eame
Tulke ol olerest?

fa) ¥ 2150
o 3170

o F 30T

.2

idl ¥ 6,240

L litees of a msoare contaios
milk and waler in b racia 503000
4 Iires of ralk s nfded to this
rrpvstune, e ot ol milk 1o wqpiter

irn 1e new nexloure wenled e

jed 301
e 73
i = 3
M) 83

Aoperean Colld sawe DM of s
s, Ball & PLELE) litle=: | whern b
in-owe increased by 20%, e ciaalil
save lhe same amcunt anly as
befare. dy how much peooowdap:
has his expenditure mncreased®

fa) 22 i 5,

i 23%“7;
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q
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14. = #=n
N=30xdox Sowhlx 124 2 Th
BT g By &, At m o aAliad e
T g
fey
B 5
i f
gl T

15, THE iy HEN | I wA R T e
Fael WFA R W oA N, Sy
200 T 1 ¥, wifE g g
wrn # oot fern B)ogm T 4 gy
B wfemma
fa) B0%

f; —— %

el 73%

i) £

B-EFUA-O-PI {f S28

16. FFfl 710 # & =1 § Tmw = Wop0se
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) 3072

fd, ® & 240

17. 16 =t & o= fosmn f g0 o 791 5 3

& g # ) of o Sem A g e g

FIT e g T, | A0 fam A gw =

O A e F0 ERT Y
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B 73

fel 13
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fdy, &:
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19. 11 how moch time would the simale 22, Twa perinns A amd 2 stan

interest o0 a arincipal amcuant we simuilancously  cone bad pleses
c km apart, and walk in the sanne
diteetion. T A Iravcls 3t e raos
nf plenfhr ané I travels at the rate
nf q kmfhr, then A has ceavellod

berdnere: Re avveriakes 2 a distance of

O L3 nmes the principal amoun:
at 10% per anoum?

!
P R
oy L ¥nAars
4

3
(] 14 ¥oars ioy 9 4m
Py
r -2 I' e . M
|I:'_,| E ol |rlF.J|I L kmn
P-4
. g .
fuy 2 1 PRt find HE L
P-1
. B
2. A mzn nras downstream 32 km and (dy - -— km

T
14 ke upstaeand, ard he  lakes pre
G nours to caver each dislanos
What i= the apeed of the carmong? 23. For whick walue of k Loes the
pair of ecuation= £ - y-’! - 0 and
g 0 Rk fhr - n . ]
[x-K]" -y =1 wigld a wnigque

fid 1 wrefhr rosicive solution of &7

fet 1.5 km}he rz) 2
i
fell 2 kmjhr o v
el I
2l. A car trav=is the licst one-thicd of i) 2

. verlain dislance w5th a speed
of 10 kmafhe, 1he next ooe-thord
distanse with o spesd ol 20 kmhr
antd 1ha st one thad distance with

24, A& persnmogodnd boa marked btfween
4 pm. and 35 p.m. When o oomreg
back, he lindrs that she hmir han:

a spocd af ad kmfhr, The average
speed ol i car for the whole
JATTIEY s

fad 18 kmjhc
{24 koagshr
foi 30 kmfkRr

fd! S0 Kmftn
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and mirndatz hand have aterchaneed
their positiens. For ha much time
[approsanately) was ae out of his
LTRSS

(el 5523 manutes
(5530 rputes
for GO A4 minylek

i) 55 3B munutes



1%, R gen W Low ufaed d wow 22 ckmHl PR AT BT A AR B

YT TLET 1 R TP W 1T BT TH O N 21 oot ua # Fown 8 v # R O wefq
0 125 TFAT & Fren? & wed #| AR A, pkmyEm $ I
I T e ¥ A 8, g km T T
faf 1113"IEf defdl E, A B W 3 T W T A
Tt =f) o e Y
3
fhy 1=
Yo il = km
pa
te] 2= ad
“ iy 2 km
3 r-q
fel) Izad
i) I km
p-a
20, TF sahwm a2 km wr & FEn 4 2
14 krm 8 foia fm & 9 B 2 p+a

ai st uete ¢t 6l 79 W O £ AT

T R A R 25 k ¥ ThE owm & Bm  mhEw

i) D5 e /WU x g =odne-kZ e W
i 1 hon TR TH, x 7 TH Hlggd & WHF Fo <M
2

ick 1 5 km e fal

e 0
fdp 2 koo ST ~

g_ll "-'IE

fdl -2

21, w = R g A e wefed
10 e == i =T &, el ww-Ser |
T 20 ke B R = A men R 24, TE =hh 390% 4 ¥ 5 3 § §3 IEE

AP B| T AR ATR M R, A e A
. o0 km /907 ) S # AT . n
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fz) 19 bom f=rT il 55.25 iR

bl 24 km HTI bt 5530 e
fe) 30 kan fHTEA fer 55 34 fime
fd) 36 %m i) 5538 fife
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25, The effiwiency of ™ is twire that of 2

whereas the efficeney of P oand ()

trgether is threg fimes that of B I
Forand B owork together oo a fob,
it whal 1ol should they share
e earmings?

far 2.1 .|
11 I A
foj 432
il = F A

26, In a Might of 600 kea, en aceraf was
slowed down due Lo bad weathet.
Tts wvepape Speed Jor the ftip was
reduced by 200 xmyfnre and the time
of digne incrcascd by 30 munutes.
The duration cf she Eirhl 15

fed 1 hour
i 2 hoars
oy 3 hours

fd] & By

27. Witk a uniformm spesd, 4 car covers
a distaoee i 8 nwars. Had the
speaed Boen nereassd oy 4 amfho,
tlie zame distance could have been
covercd in 7 hours and 3C minutes,
Wha- iz the distance covereds

perd 220 km
(430 km
(o 220 km

(d) B0 km

B EFUA-C-FDW /524
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23,

A runs l% Lirnes as fast as B [0 A
gives £ a stal of 80 m kow dar
must the wmning pest ffam the
atarting point be so that A and 2

might reach il al the wame Limg?

fad 2000 m

/B 300 m
B N
afl o RhO m

A theef is noticed by & puliceroer
frem a ciatance of 200 m The thiel
atartz runnmmg and the policemap
chases him. The thief and
the poacemat ™in at the speed
af o2 ek and L1 kmfhr respec-
tivey. What is the distance Eetween
them afcer & minutes?

ja) 100
(h) 120 m
ol 130 m
i 102 m

0. When a2 bl bosopges, il ses b ﬁ

al the keight fraom whicn it 6211 12
1ke ball is drapped ftum a hemghl of
J5 m, haw Jigh wil. it rise al the

thard boanec?

(e llf.l—ﬂll m
() m% m
() 1’2% m
{d, 12% i



25, F, ¢ et ST aymn & wm 3w A

T P O fie 2 F ardeT d3h
T eee B F1 # ) af2 SRl el
poo o R w5 s s o
TR e & T

perd Lol
Bo4:2:01
g d4:-3:2

(g 1-2:3

26. 500 km H OF T2M T U fame @R

dt & @ i gt o # A & g
FE $t 3 T 200 km ST #=A
7 aT B sl TER W A 30 TR AR
=T %1 35 ) g wEhg = AT

fo) 1 HTEO
fhl 2w
fel 3 TR

[P S L

27. T F Rt g F TERTA 9R R 5 R

Amg s b oalk o w4 kngEe
az B oW, At oW g o7 osm sk
30 A T 7 &t T wFdA ) w o
A fFrh &7

fa) 420 lkm
(B 480 km
[ 520 am

fd] B40 Ym
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A8, A, B vy léﬂﬁamtluﬁ R

w W g A % smioaeE S A
S0 m TR, W A F WRE fag A
A = R gl fed o afEn,
A N 3 TF §ET W T mie

fod A0 oy

o A00

fel 270 m

) 160 m

29, oF et o TR W 200m B 3B

g &) = AT gpE e R af e
HF U A f | AR R Rt e
L bere 79T S 11 grm ) ORI T TR H
qFe Bl 6 e & am o fm of gf
=t gt
fd 100
o 130 m
il 14 m

fdl 160 m

0. F T2 = g7= 0, Bt 3= 3

%wﬁiﬁﬂﬁﬁmaﬁﬁ%mﬁﬁ

e Ff A6 m =1 5291 § e 7m, #
sy BT FET 0 9% Rl = =t

—

fad 10 m

LY |

B 1= m

jar 12-m

e malra

fet] 12=m

o1 | T

|F.T. O



31, A

Lhght was  seen  pgg@alariy ot
an intemval of 13 secnndes. T1 was
gean Tar the fivst time at ]
24 Dnimuates 50 spconda ‘a.m. and
rhe lasd time at A hours D7 minukey
49 moeonds [3.m ). How many times
waz the lighl seen?

koL

ia) 375
ib) AT
i) 383
i) 38

A2, An rutnmebiie financer clerms 1o be

woding money at ample interest,
but he mmelodes the nEeresT every

six months  for caloulasiing  the
poncipa.. 11 he s charging =n
interest at the rate of &G, the

cHective rate of interes! becomes

[l LD 25%
=R K
je 13 75,
feli 117

33. What are the passible selutions for

s
Sy L
af the pgquation x¥7 - $x7 . where

x und n oare positive miepers?

) 0, A
o1, n
=t oA, Rt
o1, "t

B-REFUA-O-PIW 524

39,

Ja,

ler A ang B bhe Fotte
sy wedt e gmher ol clepients

0N-EMChy

e A - o and nwmber af elements in
H=a Ler mp =0 oF for some mieger
oz
subsers of 4=2% + the number of
neA empty subacta af S, theo which
ang of 1o ollowirg is cormests

The number of non-emaly

2 m=pai

by m-rn-1]
(of m-—n-p far some odd pome
mnmher
g} m=na«i for soime coinpasibe
oumber ¢
H » 12 & natural mamber 8nd

I X
n-= F'I1F;jp:'!_n| where P]I F_.!.' F'!.
are fdistinct price factcos. then the

numaer of prime factars fer noi:
oy x 1x- 14,

e A F R
fe) x4 U[xq v 11y - 1]
felf MNone of the above

3&. Conswder rhe following statements

12

for the sequence of numbers given
ke low
1o, L11, 1%L, 101101,
] Each rumner ran ke expreszed
infne fore [(4m s 3y, whersmos
& matura. number.

2 Snme MIMICrTs are squares

Which ol the ahove =statcments
15 5are carrentt

Jal  §Foanly

Bl 2 oanw

Joo UBotk D apd 2

! MWeither 1 nor 2



31, TR T ET W OH 1) 2w ¥

Wl W2 AT &1 Saet 97 3 Al
1 T4 54 e 50 AdE W i
T g 3 A 17 e 49 o9
T T | TH W W g TRt 9w dE

My

i 375
th 375
fo) 383
d) 394
32, T URTEA RFEOE F oI RO o4

HIHHr & TR NI R, WA
TR AW W AEdd R A ok o
40 TIFATETA 2 &4 3 o &% 10% &
T A BWEA o @18, o s ) UaEt o
T F =3 37

13- 25%
ita 10 5%
fe) 10 75%

FE 1%

33, T x = Yzt & owE oz alon

Hdlenh wwlt B, x F T wRE
-d §7

fal O,k
il e
ic! #, n*

2l 1, n?

B-Ef DaA--PCA 514

13

as. Ik rn T 3

36. gzt vl oLl Lo, LiLnn, L=

a4, A TREm B o4 s p i, wafrE

TH=E % 70 A # A & W = m A
g 1 A= # =9En . g 3 T dfEg
moan B 2fr TRd qoiE ko2 F R
A T o TR e = 2t 4
R e o I S N
FeaferfiEa 8 o F9-m wt &7

fal =42

fl m=n+1l

fe; o= n+ p, TE EET aewT e
p ¥

idl m=ntt, fEd A g oS Ew

wiE B aw
n=plpypyt T gL pa py TR
HWRE Qeees &, dl r 4 29T
TS F HEn F=m A7

fral Ay + X - Xy

il x xoxy

fecl [11 + i][J:E 1, +1;

jd) T g

'

AFN F T Frefafim sad w fawn
RN

TEE HET [dm e 3 & F9 R OTF
M oFA B, FEl om0 w3l
3

B s seand am g

Tofeh FAl 3 4 el WA TR SR

fay FAA

i, FAE 2

el 1 ¥R 2 A

i) T ] et <El 2
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3. Tae

HCF  and LZM of  wwo
plynieniialy are {x + yl uod

(A7 .{h*“y-r dz '-!'y?- -'f'rhzg!_fn - Sxw? - 1’.‘-}5]

Teapontinely. If one ol the
polynomials iz [.r:' —yj 1. ther Lhe

ather anlynomaal s

) 3x7 Batyel0xdp?

PPt -0yt
o 3x" - Axiy-10x7)?

+?_ryj‘ + 2yl
il xS s ﬂ.rsy'— 'II,'I,ncEH2

+'-’.1q,|3' +!yq
il Akt o+ 8 Ty 107yt

+?1y3 +2_;,-q

38. ket p br a arime number gther Hhan

2 ar 3. Ore would like te express
the valgar fraction 1/ e io the farm
al & cevuwrrinyg decimal. Then the
decitad will he

fof & pure recuarring  decimal
and its  perce will  be

hecessarily [p 1)

{B & mied recurring  decimal
At iy pericd will  be
reccsaarily [ - 1)

fel a pute rmecamng  decimal
ard itg pericd will be zome
Tactar of (p- 1)

fidi a mixed recurring decmal
and ite period will be some
facwor af (- 1)

R-FFL A8-0-PINW 524
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39. Consider the following statements ;

Thore rxiata only one prime
marber gaaen that [17p+ 11is
E ®OUATE.

2. = g the product of [0
cinsecative  prime pumbers

starcing frerm &, then{x -+ L) is
alzo a prime nuenber.

Whieh of tae abare  stabernents
isfare correct?

1 ooly

Ml 3 only

(= Both 1 and 2

(4! MNeither 1 nor 2

43, The sipn of Lhe quadratic aolyoomia!

a? v hx+eis alwawa pasitne of
jai o s poscee and 8¢ —dor < 0
fb) @ is positive and B -dgr= 0

fcf o «an be any real mumber
and B° -dacs 0

tfl @ ocan b oany real namber
and b Aecz O



ar. @ a-gqa“‘éa WETA AR T O
AU @HE: |x = b) W,

a

[3.~.’5+ Ex4y+213y2 - 312_1,' - 51‘5’4 —Eyall

Bl A e e - A
g g w0 37

fa) Ax - Bty 1027 40
+iwy® - 2y"

ol 3a* - BxTy- 1007
4-?1?3 - Eyq

ey Axd +Bely+10e” y?

+'F.1r.1,|3 +2gt

fd} Zx? 4+ Bx?y— 1027
r-T,:l;ya -I-T!Hq

38, TE AWM F p 2 M 5 % W =i
AvTA TR #| Tl mmymow (R 1w
WA T & w7 4 wrs fhar a1, 7@
HE TTEEA 6 R

ja) T TE AT TWHEE HH TEE
AT WP &1 H (p -1 #T

] WE TR amed TSR FR Io4
TS A wd P [p - 1 ET

f T O[S YEE TR et T
HTHAF [p - 1| T S TGS E

w) T W uEE s el IWR
T {p - 1) T wE IR Fm
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1. #4a TR F WAER dE p W
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2. TR x, 2B IE FA AEL 10 FE
WA TEHl worwsn B, A
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fl 1
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41, Il A, & and F wre the adthmenc,

peotnetric and bermonic means
beoween a and & respectively, Lhen
which ane of the following relalions
is cornect?

fwl O i the peometric mean
beturceny A and H

iy A iz the arithmeus mean
belween & and o

ft] & is the sarmenic mran
betwroem A 2nd 5

‘q]  Mone ol the alwyve

42, The pgeamelhiw mean aof (hree

FoOsithve Titlmbers a4 b, < is 3 and
the geametric mean o 3oty
three posittive nlmbers 2, g, £ iz 4
Also, ar leaal thiee stements in the
sel fa, &, oo o, S ) oare distinor
Whica wne  af  the  followiog
inecuaies  gives the best
infartiation zbaut A, che a-ilhroe tic
mear of the six numhbers?

fof M=243
fl M=>3-5
foi M z3E.§

iy Tt iz n¢t possible to oact aoy
arecise lewerr litnil Far

A-FFLIA-O-PFDW FS2A

43, Tarer are Gwe pa-tws A, H O Dand £

in an eleclion (st al todal Q0000
viies casl, 36000 were ast o
Farty A, 24000 to party &, 18000 10
rarty O YOG ta party & oand rest
I parly B What angle wili be
allocated for party E i the pie
chart?

fmy 15°
) 542
[l Bl?
jd) T

44, Out of 532 savings accounts Seld

in a past office, 218 arcounis
bhave deposits aves ¢ 10,00 each.
Furtker, in 302 secozets, the fre
or sole depositors  are e ol
which the deposiis exceed & 10,000
in 102 accovnts. [n how many
accounts tha fiest ur sole depoaitars
are wormen and the depastts are
aup to 10,000 il

11

gl lIG
el 114
fof 100
Ml Camigt ke detenined frem the
given datn
U NTE RN
Uen wt eyt oty dmm 13
equzl to
fal U
g Bxys
ley 12 ayr
) ayz
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w ot
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= ymA T 7
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43, v AR D A4 8 o D FW £ U A

F1 3w e 100000 ¥A O # T A
F IROOC, TA A F 2000, TA C T
18000, 9= P F 7000 7 TR we
E ¥ B gemm & @ £ R fon whem
) frufrm 7m?

fay 15
T
gl BF
il 7T
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#&. If three metalhc spheres o7 radii 6 cm,
& crm and 10 cm are melled Lo furm
A singls sphere, then the dipaneter

of 1lie new sphere wil] Be

fal 12 em
{24 em
fcl 30 cm

(il 3f oo

47, 0 zach internor angle of & regalar
Tolygnn is 133° then the number of
diapaonals of Lhe pelyparn is cqual te

fa; &4
AR
o} 20
gl 18

43. The sides al & riangular field are
4t rs, 40 - and 9 . The niumber aof
riase beds that can he preparsd in
the hell o cach rose bed. un an

awverage, nesds 900 sguare em
Epace, IS
fmf 2000
fhl 1800
fo B
el B0G
38, The ratie of the outer ard icner

perimoters ol a circulas nath iz
22 : 22, IF the path s 5 m wide, the
diaraeter of the inner circle 13

ful 43 m
o 111G 1
ficl 230

nd 230 m

L EFOA-D-TIN/S2A

1A

2. A cylindrical vessel of radms 4 em
contdins water. A 56lid sphere of

tadins 2 cm e lowersd into -he
Water  urt. it 5 comoaletcly
irmmersed. The waler lews on the

vessel will nse by
) 1-0 o
B, T em

fol 2-23 o

i 4 B oem

S1. If the hright nf a right cicouler cone
17 mecreaded by A0 and ihe
radius af the base is celuesd iy
o1, than the velume of the core

(7l rercains urzitered
it decreasea by 2R%,
ici mcreases by 25%

fdl wneeasss by S0%

32, The anples of a thangle are in the
ratiz 40 1: L Then the ratec of the
JATESET side En the perineter 15

iy —
A

et

0|

\'ﬁ . 2
fed) —
L4

oy

]
+
[
£

S53. Let w. b, £ be the siles of a right
trignple, where £iz the hypulenuse.
The raclius of the eircle which
touckns the sidea af the risngte is

il [ueb-c)rld
Bl [ee+bic)fa
el la+2he3e) /2

feft (2g Q- f3



45, TE Bom, dom AT D em a0 A 50. 9 cm B=m 4] s FEETR A9 A 9H]

7 wEE T R AOEER T T ¥ Ace B g TR B T O
FHTET AT, At A0 T S0 w0 4 B FAM @14l 2 e TR T 77 1 A% | T
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ALY
) 24 om
fal 1.3 crn
ol 30 om
ih) 2 o
Sl 3B cro
[of 2-25am
47 o Tl TR sgye @ W AT fdf 45 cm
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fdf 14 fc} 255n ag sl B

(e 500 w2 wTm ¥

48, vk fEmmfm @7 1 y7d 41m, 40m
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WA 00 R
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iy 1
fa) 2000 fa) 3 i P
Bl 1800 N 2
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fedi  #0D |
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F YW 23:22 B 9B w5 A frou, w1 B 1 v=es WO FE
¥, Tl g w m e R, o 27
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B%. The wrea of the largest triangle thas
van be inacribed in & =zemicitele of
radius r :3

o r1

fal are
frl 32

i} dy®

5% AD is *he daameter of 2 cecle and
AR wm o chond U AD = 34 cm
AG=30 cm, the distance of AR
from thr erntze nf the orzle 15
fay 17 om

‘B, 15 cm

el 13 om
i) & cm
56, [ a awar figure 8 formed by

=longating the sidea of & regular
pentogon, then the measure of cack
angle at the angular soints of the
atar fipure iz

w38t
ity
fop 37
fied)
a7, Four equal-gized masmum circular
plates sue cul off from 8 scuame

papet sheet of area T84 squure co.
The circumferspice of gach pate 15
fiel 11 i
ff
fo]l A3 o

fel)

22 cm

=3 &m

B-RFTIA-D-T0W/ S3A

14

5&. [[=a-1]|A+ H] = 3 and tanA = 1, then
tand A - B oequal to

fml 1

o1

et

il
il —

il e

59. M the radins of a4 aphere s increased
by L%, 1hen the swalume will e
incremased by
fz] 33-1%

i 30%
[ BO%
i) 104

B, ADCD is a paradelogran, where

AR AD =2 | One of the angles of

the paraliclogrem iz BF. The twa
d:aponals are in the rato

il T3
fel 7.3
iof ¥T:5

rf)l Muooe of the above



54, ; Ber amt o andyd & TR @ 58. 7% LaniA+ B) =3 ¥ tana - 1 7, @

W T g e T dErn w37 tan | A - £ R qmen 27
far T
& 2
fry 3 LT
fdy ar’
e le

55, T g7 =1 = an # et aed) oF S
AR B ult AR =34 cm, AR= 20cm,

T 79 % %75 9 af it gfl P g? fuif 42
iad 1T o
B 1% cm
frp 13 om 54, TE UF T = Fem o 0% a5 ) oam, Gt
W & em THE A& A 5 ST
iz 33 1%

56. T UF T YA =y #@ age
= W F oWFEh G oaEh R, A oA

. [l 30%
WFR F T frgal m o S
A A K o 0%
fa) D&
) 10%
(bl ann
fr) 3
fd} 30 60, ABCD W= WO wgm %
AB:AD =23 1 &I BUET HLYE w U
57. TR T cm SAFA A T TIHFR F9 = G ¥ EeEw S F A feE
Fomd F O gy R ST AR el 3 a9 fom awgee A R
T = w2 W e T § o
vz F 7 wm B fa) 73
fal 11 €m o R AR i
(B 23 mm
il T 5
(¢f 33 cm
il 44 cm jel) T 8 T %= 8
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Bl. Cons.der the followinsg slalernents

Let O Be & point on the side
EBC of a triangle ABZ T area of
triangle ABD = area of tnangle
ACL, theo for ail poiolz O an
AD, area of triangle A0 = area
ol triangle A0

] [f & 1= the point of connurrence
of the medians of a rrangle
AN, then area ol triangle
ADG - area of triangle &0C
= area of lrigngle ACG

Which of the above statetents
15, 0re correct?

[zl 1 ooly
'l & ooly
fe} Both 1 and 2

(@) Meither 1 nor 2

6. [T sesA=-lun B cozB=tand and

s = el A, 1hen sin A s ecual Lo

—_
. wo -1

i) 4

Bl ~."5'E-|
fe; 1r'3d-1
el -.-'EE— 1

B-EFUA-CO-FDAW /524

63

F-wn’ A
1-3tan® A

- K

wiere K ois d real pumber, lien
cosec Al 3sind -4 5i0? A3 egual e

|II“|I' - -

£-1

T !
‘h| ———. arher
Bl ot VR

=k =3

o .HEHI' where £ < ! or B o= 3

jui)

64, The angles of elevation al thi 1op of @

rower [oom two poiats P and Q) at
dislances m® and n¥ respeciively,

Ereoam che DLase and in the =ame

soraaghit line with 1t arc
completnentary  Thoe heght of -he
tower is

re! |r?1:rt:]""';

B mnli¥

far  m'i

il e



&61. Ffemer e W fa=m $irm

1, R #tm % = frE Asc S
VA BC W DT By A1 g Ty
ARD T §FEA = fM@ ACD =
darn, Mt An = whk il 0%
e, g ARG # dwa - B
ACC = HTRE

2. T2 TF fE ARC &1 Tt w=
e W oo %, @ FgE ABC
1 &A= i@ BoE & d9wa
= fym 400 % S !

T = A & FE-m R v i
jed  eREE ]

i e 2

el 1 2 <l

e T I T\ [

L B Tfa oA =tan s, cosE=tanlC i1
vos O = tan A, M sin A fEFE o 8l

Jri

{hy

fef  ==-

fed)
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I-3wn”* A
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Femrsy e 37

aK
il gy
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§ —— AR K <3
ik K-1 3
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65 Tac angle of 2levation of a cloud froca 68. Congider the following -
a print 200 m abowve a lake is 30F

and Lhe angls of deoression of its . _ros4 o sind

reflection i the luke s 6F. The 1-tanA  1-natA

height of the uloud is = §inA +uus A

£ B WL 2 l-snA=cosal?

i 300 w0 — | - = A ] +cos A}

i A0 m Which  of  the  above  jejfure
idantityfidentities?

) sl m
f 1 wnly

a6, if

B 2 woly

- =cC
tar A ~cobAd it Bozh 1 and 2

than tant 4 st 4 equal to ig] Meither 1 nor 2
{110
68. ABC is & trisngle right phgled ar
b 191 P oand AB:EC=3.4. What is
R gin A4 ' sin B 4 sin C equal 27
fell 154 foi 2
11
&7, If L
R . .12
_I'-'-‘=..|l—“-!n—x. q=|_-5-1r'.x . cnsf.u fop =
Fl1+sina L X lesinx -
ther which of the followine s/ are a3
gcarrect?
i. p=g=- TQ. The wilue cf
2. F: =g

cosec? BT + se2? 57 —cor” 337 mn? 2¥
Selest the vorrect onswer using the

code given below, is

fei L oongy jeLf T 2
th) 2 onls By 2
i Boty 1 and 2 el W3
ral  Meitber 1 ooy 2 jdf 0

A-EfLA-O-POW f 524 24



65. UF A & 00 m W B Tw S 68, Fredfefus w g Hiae .

Pl W= &1 TPeA #IW A ¢ afn I ) eosd |, sinA
et 0 ufdiana o) 2q304 b gop &) |—tanA 1-catd
A= & e F1 ie =ginA+CodA
2. |1-pinA-casdl|’
il 309 m i BinD a5 A |
= 2 1-gicAlll+cosAd|
fbl U0 m . .
Ioow A & mr T o R
(ol 400 m
fuy  FERA L
fd} GO0 m
fh) FEA 2
(B LR C
&6, T lanAd~-rolA =4, M fef
tacr® A« pue? A PR oY BY fdy A4 afrada
fup 110
bl 191 M N AB:BC=3:'4 B
fe) &0 Bin A + 2in 5+ ain C s = §7
) 194 fay 2
m AL
67, 3% =
11 - sinx l-sinx COE X 12
= | = - 1\ —_—
By lceme 77 oz ' T l—mme fel L
dl Saftlina d 8 F¥9-=/8 G 5737 I
l. p=g=r
2. 2 -
F ¥ TO. cosect 67 - seus BT - cpt? 337
4% %momr g Wowan el udl S —tan? ¥F
I
T W Ul B
) FEE 1
fal fr] A
i el 2 bl 2
fol 1 37 2 TH fo) 2
ol s@sfmada ey O
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rxiats  al  Jeazt

T1. Consider the following staterments :
ure

1. Ther=
valug of * beoveen O and .h
wheoh satisfies b popeaion

q oy
s & dsmcx L[

2. =ml-5 s greater then ros . o

Which o the abave
15 are correcl?®

Ataleratnls

faf 1 anly

B 2 anly

el Buth 1 and 2
fd} Meither 1 mo- 2

T&- Froa Lhe bop of o Lawer, 1lie anples ol
deprassizn of twc olrects F and O
[sitwated on iDe ground on the
game side of the ‘ower] separzicd
ar o diatance of 1003 - /3] m are
4F and BIF rezpectively. The height
af the tower 13

2l 200 m
(bl 2a0 m
ol 330 m

fely  Mome of Lhe alapwe

7d. [
ANx ~cnsx =
then 51:15 X +m55 & 9 egual tg
F q
a) ll G dc
16
1+ Bc” o 30"
g —— - - OF
fhy .
B - =
|'|:|I —_— _—
16
. - Be? - 3T
feis q .

B-EFLIA-0-PLW/{ STA 26

T,

TS,

Conaider the folowing staleroenls -

1. There rxosls o valoe ol £ 5uch
Lthat

L

=g 2T
| -5 x

U'q.:cr.'.ﬂ
2

-
T ominx = g0 hald

good lar any teal x

doess  npat

Which of the abouee slatements

izfare cortect

2l | only

bl 2 only

e Both 1 aad 2

(d] BMeitber 1 nor 2

A thiangle ABC is inscribed in &

ciccle. I sum of the sguarss of

sides of the tcaoge i: equal te
twice the sguere of the i lec,

then  sio¥ Avsin® Bsin? € s
egual 1o

fof @

iy 3

fel A

{dl Mor.e of the above



T1. Freefatm ww= m faam ffm

1, uai'n;-'ﬁ;ﬂa Tl FO-H-F0

A ufee & 8, ST e
sin x-2sim?x-1=0 =1 Tz
FTAT B

2, =inl-5 cosl 58 @ E

SR W A W R A e e

fai FE 1

fhl A 7

AR ol

oL dradaz

72, et @ & o T e W e §

T P G & Fes A ol
1003 - y3pm E, dEm & Buw A
AFTH F FRT: 25 AR 60 ¥ dAw
s Imgrd ) BT

fo; 200 m

fhi 230 m

iof 300

AT L R i i

73. TR sinx dcoax =g A sin® x - cos? x

e sTw 37

1+ 6e? - 30t

ja) — s

14 Bt - 3™

ﬂ:,jl +—
ra

o 1+ 6?4307
' 16

1+ fe? 4 31

l:j'
(e P

B-EFUA-O PDW f32A

74, fmafaine st o fram @50

1. xR TR W A R
f®

1 _ -
! =4 =23, Qeax<’
l-=mx 2

2 5lnx=3“:”1"’ﬁFFﬁ‘!ﬂT:|T{-T'lﬁﬂ:x
& fom ) T wm)

T e A & - d e 3087
faf FEA

{ht FaA 2

el 1 oz E

fet) A A G R TR 2

75. Bnys apc feet 99 % arl wfter o

{eTaz) 2| 9 e o el F
F1 o' oot b W OFOETW R, A
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T8, The aren of & rhoimbus with  side
13 ¢m and one diagona. [0 em
will

fay 140 square cm

b 130 sqUere cm

foi 120 sgueres wm

i) 110 square cm

TT. Twa circles, =ach ol redica r, with
centres M and £, are such that each
circle passes tarough the centre Gl
Lhe otber  circle  Then the wren
comoon b the citcles 5 less than
ane-third of the sum of the areas af
the twao circlos by

-
3 [
o) 221
a
= 0
th) war
3
.
g T
:2.
idl yar?

TH. N =phere and &8 cobe hawve same
surface arza. The ratia of souare of
their volumes 15

i & .m
il G
o 3o
Wi 1:1

R-TFA- 11" 1w B2 A

Ta. The radius of a sphere '3 egaal ta the
radinz of the baar of a right cireular
canr, atd the eoluone of The apheoe
is donhla the volums nf the rone.
The racic of the height of (e cone
the radivs of its base is

fal 21
2 I
fel 2.3

pdp X7

80, Water Mows thyovgh o cvlindricl
pipe of intermal Sismeter ¥ oom oac
the rate of 3 mfs. The time, in
minates, the pipe woold take o
lil o empty Tectangzdiar  tank
dmxim=2 Tlom i

j2)  FE
(24
jz, 20
[ T

8l. The tatal outer sitlare area at 2 fAght
circular conc af height 24 on” with &
hrmisphers of radius T cm upon ks
base i
ff SATH suase cm
fhl 307 sguare cm

ol 2¥3n square cm

(di 273m square cm



76, SR mEODE |, S A 13 o 3
= B 10 0 &, SrEe e Emd

‘o) 144 M cm
B, 120 T rm
te] 120 3 e

i 110 7 e

77, @ T ¥, T oo B W R
poil o F TOW 99 T A F deR A
F e B At gt ¥ 3wl
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V357
far 4

var
RS
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fdf 3t
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fr) B
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fd) L1
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¥, s il S B S dEEET e ¥

wivE #F Bsm & owman & et nld R
AT, ¥ & 3= F S0 3 vE H
Frd ol apek ET F ST D ad
F1 ¥E

ful 2.1
fhl 1:2
fel 23

gy 3z

0. 7 cm Tt AL G STe: MW AR

Tt & arr 5mf'ﬂﬁ“ﬁfﬂil':-'?l'lﬁl
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] AR E WE A T W e e
i

() 28
by 24
fel 20

a1

&1. TF vgnm wE &, Bradl herd 24 em

2 st (FIRE YR T 7 om FEh | OTE
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EX

] 327w 7 e
() 30m 4 cm
fol  2%ET T em
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&2. The laat digis in the expanszion al

17296 g

el 9
e 7
Mol 3
idi 1

B3. A recranpular bBlock of wood heving
dirncnsicns S« m= 1-¥5m has
o e pawated nn oall 1z Swees. The
[ayer of paint must be - | pun thick.
Paird coroes In cubiga,  boxes
heving then edpes equal to L0 om.
The minitaum number of boxes of
painc to e purckased is
ia)
b =
fe] 3
T

B4, The <hagocals ol throe faces of o
cubgid are 13, 2281 and 20 lineat
units. Then Lhe tolal surface ares of
the cubnid =
fo; 850 squakse uoits
/Bl A58 square units

fof DO sgpuare wruks

il BT2 sguare wnits

B EFUA-O-PDW/E2A

A5 A revisopular paper of 14 om Conge
annd & vm owide i ralled o form o
cyhnder of heigkt equal o width of
the paper. The radius af the haze of
the cylinder sa rolled is

o 35 em
b 3 com
el T oem

i 14 cm

2. If c-b=4 and n’ + b¥ =40 where
a and b are positive iatepers, then
a*«b% is myual 1o
fai 264
b 2EG
fel 300
id) 324

8T. The zides of o liangle are 25 cm.
39 cm and & ¢ The pecpen-

dicuar drom the apoosite vertex
pn the stde of G cm 1S

fal “dcm

fhl 12 oo



B2, 177%0 ¥ wou # wWoaw 2 A7 85, UF AWAEER A &, fawdl g
4d om M7 dEE 6cm B A (TR

fzp 9 T i ) T W FEET S e
o 7T S R | 50 TER AT 7T
)7 ¥ umam &) e w0 TF
fef 3 fuf 3% cm
ral 1 fbf 5 cm
el T oem
B33, Im=2mx=1-75m B G T @ 14 em
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